
84

R
DIN6325

N

Not hardened

S
DIN7991
SW

N

E

Mat. 1.2842
Hardened 55±3 HRC (Friction Area)

F

G

H B D

C

A

LM

Stop
P

DIN6325

T
DIN7991

SW

Mat. 1.2510
Hardened 45±3 HRC

Rz 6.3

Rz 6.3

Rz 6.3

Rz 6.3

Rz 
6.3

GS

30

403020

2nd Opening Free

Adjustable 1st Opening
(Min.V)

!
1 2 3

Cad Insertion Point

LATCH LOCK
ES Gatillo Simple DE Klinkenzug  

IT Gancia Sgancia PT Gatilho Simples FR Crochet Ouverture Gradué

Ref. A B C D E F G H L M N P (x2) R (x4) S (x2) T V Scale SW

GS.226616 22 66 16 38 75 30 25 32 105 10 15 Ø6x20 Ø6x30 M6x30 M6x35 10 40 4

GS.368619 36 86 19 46 102 43 32 42.7 153 12 20 Ø8x24 Ø8x36 M8x35 M8x40 11.5 60 5

GS.421024 42 106 24 56 124 51 40 50.2 190 15 24.5 Ø10x30 Ø10x40 M10x40 M10x45 14 80 6

After selecting the required stroke, fix the scale lever.
Después de seleccionar el recorrido deseado, fijar la leva graduada.
Nach der Wahl des gew. Hubes befestigen Sie die skalierte Leiste.
Dopo aver selezionato la corsa richiesta, fissare la riga graduata.
Depois de seleccionar o curso adequado, fixe a régua graduada. 
Après avoir selectionnée la course d’ouverture, fixer la régle graduée.IM

PO
RT

AN
T

!

Patented

Installation Guidelines
Consejos de Instalación · Richtlinien zur Installation · Consigli di Installazione · Instruções de Instalação· Mode d’Installation

SpacerIM
PO

RT
AN

T

!

Max.
150ºC

https://cumsa.com/QRfiXR
https://www.youtube.com/watch?v=T-hzFsPv3Cw
https://cumsa.com/QRcGS

	EC
	Slides home
	Slides Index
	MS
	MS
	SP
	MC
	MG
	MB
	SU
	UU
	CS
	CR
	CA
	CG
	CG SET
	BC
	GI
	GR
	BG
	UC
	UA
	PO
	RC
	RCM
	CG
	RA
	Undercuts home
	Undercuts Index
	DR
	DK
	RF
	XR
	KR
	FC
	CK
	MK
	RD
	WL
	WP
	WF
	PF
	PS
	PW
	AP
	PX
	CX
	ED
	EE
	DL
	DG
	BD
	DF
	VI
	CI
	SD
	SPECIAL PW
	Ejecion home
	Ejection index
	PR
	SL
	RM
	GS
	MX
	DX
	SX
	EP
	DE
	DY
	SY
	EY
	EZ
	EB
	EW
	AE
	AL
	LR
	LD
	BA BE BT
	TE
	VE
	DP
	TM
	TA
	TR
	Traceability index
	CF
	FR
	MN
	CT
	TK
	IM
	IR
	BI II
	IG
	FU IU
	FA
	IA
	EF
	FP
	FX
	IX
	FD
	FT
	IT
	BM
	PM
	CC
	Vacuum home
	Vacuum index
	VB
	SV
	VJ
	VG
	VM
	VT
	VV
	PT
	PT PA
	NP
	VP
	NR
	VS
	CV
	PH
	LV
	JV
	TV
	Accessories home
	Accessories index
	FV
	VA
	VH
	VD
	SA
	AS
	EC
	TH
	TO
	BR
	RL
	JR
	SB
	TB
	TL
	PI
	CP
	SC
	SM
	MR
	RR
	UM

	QR GS: 
	EJECTION 4: 
	QR XR 32: 
	Video XR 30: 
	Ejection home 27: 
	Botón 733: 
	Undercuts home 96: 


